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Section 3.4 Extra Practice

1. Fill in the blanks to find the length of the hypotenuse of the right triangle.
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The length of the hypotenuse is cm.

2. Fill in the blanks to find the unknown leg length of the right triangle.

e2+f2=g2 g=13cm
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The length of leg e is cm.

3. What is the length of the hypotenuse of each right triangle? Show your work.
Give your answer to the nearest tenth of a centimetre.

a) b)
¢=20cm d y y=10cm

¥ =8cm

b=12cm

4. Use the Pythagorean relationship to determine the unknown leg length of
each right triangle. Give your answer to the nearest metre. Show your work.

a) b)
v=11m y=1irm
r=18m g=13m
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